
One dimensional Dirac Delta function - part 1

Evaluate the following integrals

I1 =

∫ 5

1

(3x2 − x+ 2)δ(x− 3)dx [I1 = 26]

I2 =

∫ 4

0

sinxδ
(
x− π

2

)
dx [I2 = 1]

I3 =

∫ 5

0

(3x2 − 1)δ(x+ 2) [I3 = 0]

I4 =

∫ +∞

−∞
ln(x+ 5)δ(x+ 4)dx [I4 = 0]

One dimensional Dirac Delta function - part 2

Evaluate the following integrals

I1 =

∫ 2

−2
(2x+ 1)δ(2x)dx

[
I1 =

1

2

]
I2 =

∫ 2

0

(2x3 − 4x+ 5)δ(1− x)dx [I2 = 3]

I3 =

∫ 2

−2
7x2δ(2x+ 1)dx

[
I3 =

7

8

]
I4 =

∫ c

−∞
δ(x− a)dx [I4 = 1 if a < c ; I4 = 0 if a > c]


